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Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
Assam Rifles Examination, 2018

[Roll No. : www.GovtJobsAlert.In

[Registration No.

[Name :

[Exam Venue : iON Digital Zone iDZ Madhyamgram
[Exam Time : 9:00 AM - 10:30 AM

[Exam Date : 06/03/2019

Section : General Section

Q1 Find the missing number from the below options.

14 13

452 7

16 17

Ans X 1. 456
X 2 440
v 3 458
X 4400

Question ID : 9895808607
Chosen Option : 3

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.

ROSEBERRY: SEBERRYRO: : BEAUTIFUL : ?

Ans o 1 AUTIFULBE
X 2. TIFULBEAU
X 3. EAUTIFULB
X 4 UTIFULBEA

Question ID : 9895808595
Chosen Option : 1

Q.3 Four options have been given out of which three are alike in some manner, while one is different. Choose the odd one.

Ans X 1. 2348
X 2. 6388
v 3 1238
X 4. 3568
Question ID : 9895808606
Chosen Option : 1
Q.4
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Four boys A, B, C, D and four girls P, Q, R, S are playing merry go round in such a way that they face the centre and
form a cirele. No two girls or no two boys are next to each other. A is to the immediate left of R, who is opposite to Q. P
and Q have only C between them. P is opposite to S, who is to the immediate right of B.

If B is the only person between R and S, then who is opposite B?
Ans x 1. Q
X2 A
X3D
v

Question ID : 9895808599
Chosen Option : 4

Q-5 Select the correct option that will fill in the blank and complete the series.
AB, BA, ABC, CBA, ABCD, .
A K1 CABD
X 2. BACD
v 3 DCBA
X 4 ACBD

Question ID : 9895808590
Chosen Option : 3

Q-6 In a certain code, TIM is coded as RGK, then how is PAINE coded in the same way?
Ans X 1 NGYCL
v 2. NYGLC
X 3. NYGCL
X 4 NGYLC

Question ID : 9895808596
Chosen Option : 2

Q7 Which of the following answer figure will complete the given figure?

Question figure:

?

Ans

Question ID : 9895808610
Chosen Option : 3
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Q.8 Select the option that is related to the Third term in the same way as the second term is related to the first term.
10:30::68:7
Ans X1 112
X 2 120
X 3100
v 4130

Question ID : 9895808605
Chosen Option : 1

Q9 Study the diagram carefully and answer the given questions.

Doctors
Painters

)/

14 10

28

Players

How many painters are neither doctors nor players?
Ans X1 1()
X238
Vo9
X4 6

Question ID : 9895808614
Chosen Option : 3

Q.1 Four letter clusters have been given out of which three are alike in some manner, while one is different. Choose the odd

0 one

Ans X1 STaY
v 2 AWaY
X 3. TRaY
X 4 CLaY

Question ID : 9895808591
Chosen Option : 2

Ql-l Select the correct option that will fill in the blank and complete the series.

0.3, 0.8, 2.3, 4.8,

Ans x 1. %53
v2 83
X375
X465
Question ID : 9895808604
Chosen Option : 2
Q.1
2
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A M, P.D. Q. R. Wand B are sitting around a circle facing at the centre. D is fourth to the left of A whois third to the
right of M. P is third to the left of Q who is third to the left of M. R is third to the right of W who is second to the right
of B.

In which of the following pairs is the second person sitting to the immediate right of the first person?
Ans X 1 QB

X 2. RM

X 3 MD

v i AB

Question ID : 9895808598
Chosen Option : 2

Q.1 Four brothers P, Q. R and S go to a hotel. They book four hotel rooms numbered 301, 302, 303 and 304. Sum of room
3 numbers of P and R is 603 and the sum of room numbers of R and S is 604. What is the sum of room numbers of P. Q
and R?

Ans of 1. 907
X 2. 905
< 3903
< 4. 904

Question ID : 9895808600
Chosen Option : 2

Q‘il Select the correct option that will fill in the blank and complete the series.

2.7.5,10,8, 13,
Ans Xl- 15

X209

Vs 11

X 4 38

Question ID : 9895808603
Chosen Option : 3

Q1 IfPT is written as 8<10, how will NLR be written?
Ans X 1 7-6-12

v'2 7-6-9

X 3 7-6-8

X 4 8-6-11

Question ID : 9895808597
Chosen Option : 2

Q.1 Select the correct combination of mathematical signs to replace “** signs and to balance the given equation:
6
530 % 2% 3% 5% 500

Ans K9 -
K2 ++x=
Vi sxt=
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Question ID : 9895808608
Chosen Option : 4

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
7  is true, even if it appears to be at variance with generally established facts. decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:

Some shirts are socks.

No sock is red.

Conclusion:
1. Some socks are shirts.
II.  No shirt is red.

Ans X 1. Neither conclusion I nor IT follows
/< 2. Either conclusion I or II follows
7< 3. Only conclusion II follows

« 2 Only conclusion I follows

Question ID : 9895808602
Chosen Option : 4

Qél Choose the option figure in which the problem figure is hidden/embedded.

Question figure

)Y,

v

Ans

X
A =] || K

Question ID : 9895808611
Chosen Option : 1

.1 - A = -
Qg Choose the option which completes the given figure series.

Question Figure

° ojo el @ o
L] e u.u L LRl
- @ L] LY - % -a
o L] o [
Ans
le
X u
o
a
X2 | =
-]
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Question ID : 9895808609
Chosen Option : 4

%2 Select the related word pair from the given alternatives.

Teeth : Cut : :

Ans 1 Food : Smell
/< 2. Tubelight : Heat

W 3 Legs: Walk
< 4. Broom : Fly

Question ID : 9895808593
Chosen Option : 3

Q.2 A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how
1 it will appear when opened.

Question Figure:

GLILY

Ans
52
Vs
X

Question ID : 9895808613
Chosen Option : 3

%2 Select the related word pair from the given alternatives.

Celsius : Temperature : :

Ans X 1. Bank note : Office

v 2. Kilometer : Distance
< 3. Bulb : Electric current
X 4. Meter : Water

Question ID : 9895808594
Chosen Option : 2
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Q.2 Choose the option that most closely resembles the mirror image of the given figure when mirror is placed at right side.

3
Question Figure:
M

aigl
N

Ans {(\
vis T| 8t

xs {EQ <| z

Sa |=| &

Question ID : 9895808612
Chosen Option : 1

Q.2 The statements below are followed by conclusions labeled L, II. III and IV. Assuming that the information in the
4 statements is true, even if it appears to be at variance with generally established facts, decide which conclusion(s)
logically and definitely follow(s) from the information given in the statements.

Statements:
All Iris are Cornea.
Some Comea are Lens.
All Lens are Retina.
Conclusions:
I.  Some Retina are Cornea
II.  Some Retina are Iris
[OI.  Some Lens are Iris

IV.  Some Cornea are Retina

Ans o 1 OnlyI and IV follow

< 2. None follows
/< 3. Only III and I'V follow

/X 2. Only I and II follow

Question ID : 9895808601
Chosen Option : 4

Q.2 Four words have been given out of which three are alike in some manner, while one is different. Choose the odd one.

5

Ans 1. Quran
W 2. Jewish
X 3 Bible

/< 2. Bhagavad Gita

Question ID : 9895808592
Chosen Option : 2
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%2 The are the triangular muscles of the shoulder.
Ans X1 Masseter
& 2. Achilles tendon
v 2 Deltoids
X 4. Sartorius

Question ID : 9895807521
Chosen Option : 3

22 Which of the following rivers is NOT a tributary of the Krishna?
Ans X" 1. Koyna

/< 2. Bhima
/< 3. Venna
v 4 Betwa
Question ID : 9895807522
Chosen Option : 4
Q2 alloy consists of nickel, copper and zinc.
Ans X 1. Bell Metal
X 2. Solder
v 3 German silver
X 4. Rose Metal
Question ID : 9895807520
Chosen Option : 3
Q.2 The relation between the period of a simple pendulum 'T" and its length 'L' is . ('g' is acceleration due to gravity)
9

A o 1 T=27 (L/g)
X 2. T=4n V(g/L)
X 3. T=21V(g’L)
X 4 T=an V(L/g)

Question ID : 9895807517
Chosen Option : 2

Q.3 Who was the first and the most important king of the Rashtrakuta dynasty of Karnataka who defeated the
0 Chalukyas of Badami?

Ans 1. Harihara I
/< 2. Uttama
' 3. Dantidurga

X 4 Bindusara

Question ID : 9895807525
Chosen Option : 3

23 The Bhangra dance form is popular in which state?
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Ans X 1. Puducherry

' 2. Punjab
/< 3. Rajasthan
< 4 Maharashtra

Question ID : 9895807505
Chosen Option : 2

%® The Union Budget 2018 allocated ¥ 5,750 crore to .

Ans  of 1 the National Livelihood Mission
/< 2. the Ujjwala Yojana

7< 3. Operation Green
X 4. the Saubhagya Yojna

Question ID : 9895807512
Chosen Option : 2

Q.3 Which Maratha warrior died in the successful defence of the Sinhagad fort fighting against the Mughal army?
3

Ans  of 1. Tanaji Malusare
/< 2. Baji Pasalkar
3. Chimaji Appa
< 4. Baji Prabhu Deshpande

Question ID : 9895807527
Chosen Option : 4

Q.3 The concept of the Freedom of trade in India's Constitution is adepted from the Constitution of which country?

4
Ans 1. United Kingdom
X 2. Ireland
/X 3. United States
v 4 Australia

Question ID : 9895807514
Chosen Option : 3

Q.3 In which amendment to the constitution were the Bodo, Dogri, Santhali and Maithli added to the list of
5 recognised languages?

Ans X 1. 73rd Constitution Amendment Act of 2003
/< 2. 103rd Constitution Amendment Act, 2018
v 2 92nd Constitution Amendment Act of 2003
/< 4. 101st Constitution Amendment Act, 2016

Question ID : 9895807515
Chosen Option : 1

Qé3 Which freedom fighters were hanged for the Kakori conspiracy case?

Ans 1. Chittaranjan Das and Vasudev Balwant Phadke
Page 9 of 32 Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In
# 2. Khudiram Bose and Chandra Shekhar Azad
2 Ram Prasad Bismil and Ashfaqulla Khan

< 4. Krishnaji Gopal Karve and Bagha Jatin

Question ID : 9895807526
Chosen Option : 3

Q.3 Minimum Support Price for 2018-19 for Cotton of the Medium Staple variety is set at
7

Ans  of 1. T 5,150 per quintal
< 2. 2,897 per quintal
< 3. T 2,430 per quintal
X 2. T 1,950 per quintal

Question ID : 9895807513
Chosen Option : 1

Qé3 Which element is placed in the 5th Period and IIA Group of the periodic table?

Ans X 1. Tellurium (At no 52)
< 2. Lead (At no 82)
75 3. Barium (At no 56)
« 4. Strontium (At no 38)

Question ID : 9895807519
Chosen Option : 2

Q§3 The prefix' ' 1s equal to-a factor of 1013,
Ans X 1. atto

o 2. peta

&3 exa

X 4 femto

Question ID : 9895807518
Chosen Option : 1

Q.4 Which Indian won the Gold in Women's freestyle wrestling, 50 kg, at the 2018 Asian Games?
0
Ans X 1. Sakshi Malik
' 2. Vinesh Phogat
/< 3. Kavita Devi
/< 4. Babita Kumari

Question ID : 9895807506
Chosen Option : 2

Q.4 Which tribal festival in Chhattisgarh is dedicated to goddess Kesharpal Kesharpalin Devi. one of the tribal deities?
1

Ans  of 1 Madai
2. Puli Kali
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/< 3. Minjar
X 4. Sarhul

Question ID : 9895807504
Chosen Option : 2

%4 The Zoji La Pass is in which mountain range?
Ans 1. Ladakh Range

' 2. Zanskar Range

#< 3. Dhauladhar Range

/< 4. East Karakoram Range

Question ID : 9895807523
Chosen Option : 1

Qé“ The best examples of which script are found in the rock-cut edicts of Asoka?

Ans X1 Grantha

v 2. Brahmi
X 3. Kadamba
/< 4. Sharada
Question ID : 9895807503
Chosen Option : 2
QA4 Mutual Funds asset base in India stood at atend of November 2018.

Ans X 1. ¥ 3] lakh crore
X 2. ¥ 47 lakh crore
X 3. T 19 lakh crore
v 4 T 24 lakh crore

Question ID : 9895807511
Chosen Option : 4

Q.4 India defeated the team from which country in the final to win the under 19 Cricket World Cup, 20187
5

Ans of 1. Australia
/< 2. South Africa
/< 3. England
< 4. Pakistan

Question ID : 9895807507
Chosen Option : 1

Qé“ Who won the Miss World title in 19977
Ans X 1. Reita Faria

/< 2. Tara Anne Fonseca

« 3. Diana Hayden

X 4. Zeenat Aman
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Question ID : 9895807510
Chosen Option : 1

Q7'4 The atmosphere of Mars is mostly composed of
Ans of 1 Carbon dioxide

/< 2. Oxygen

/< 3. Hydrogen

& 4 Ammonia

Question ID : 9895807524
Chosen Option : 1

Qé“ The Elephant is a symbol of which Indian political party?
Ans 3 1. Rashtriya Janata Dal

< 2. Communist Party of India

< 3. National Congress Party

+ 4 Bahujan Samaj Party

Question ID : 9895807516
Chosen Option : 4

Q;‘ Who is the author of the, 'Byomkesh Bakshi Stories'?
Ans 31 Satyajit Ray

& 2. David Davidar

' 2 Sharadindu Bandyopadhyay

X 4 Ritwik Ghatak

Question ID : 9895807509
Chosen Option : 1

Qo-5 All of the following siblings have won the Dadasaheb Phalke Award, EXCEPT

Ans 3 1. Raj Kapoor and Shashi Kapoor
/< 2. Lata Mangeshkar and Asha Bhosle

' 3. Mahesh Bhatt and Vikram Bhatt
& 4 B R Chopra and Yash Chopra

Question ID : 9895807508
Chosen Option : 2

Q.5 If a man cuts the grass of a lawn in T minutes, what part of the lawn can he cut in 30 minutes?
1

Ans X1 T-30
v 2 30T
X 3 30-T
X 4. T/30

Question ID : 9895807844
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l Chosen Option : 2

Q.5 A sum of T 5000 is invested for two vears under compound interest at 10% p.a, interest being compounded annually.
2 The interest earned (in %) is:

Ans X 1. 500
X 2. 1000
v 2 1050
X 4. 2100

Question ID : 9895807842
Chosen Option : 3

Q;,;s Study the following table carefully to answer the questions given below.

Marks obtained by three students A,B and C in three subjects
out of 100
Student Subjects
Math Sci Eng
A 38 36 66
B 63 74 78
C T2 68 34

What is the difference between A’s and C’s total marks in the exam?

Ans of 116
X213
X322
X 4 15

Question ID : 9895807852
Chosen Option : 1

Q.5 The base area of a cuboid is 34 sq cm. and height is 3.5 cm. What is the volume of cuboid?
4

Ans X 1 125 cm?
X 2 97 cm?

v 3 110 cm?
X 4 108 cm®

Question ID : 9895807848
Chosen Option : 3

Q.5 sixty percent of the rats included in a particular experiment were female rats. If some of the rats died during the
5 experiment and 30% of rats died were male, what was the ratio of the death rate among the male rats to the death rate
among the female rats?

Ans X'1.3:4
K26:7
v39:14
X4 09:16

Question ID : 9895807835
Chosen Option : 1

Q5
6
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In what proportion must a grocer mix one kind of bajra at T 45 per kg with another at ¥ 32 per kg in order that by
selling the mixture at T 48 per kg he may make a profit of 20%?

Ans X' 1. 7:5
X29:5
V3 8:5
X44:1

Question ID : 9895807838
Chosen Option : 3

Q7'5 John travels grd of a distance by bike and remaining 6 km on foot. How many km does he travels in the whole journey?

Ans X1 26 km
V2 18km
< 3 28 km
< 4 14km
Question ID : 9895807846
Chosen Option : 2
Q.5

g Study the following table carefully to answer the questions given below.

Marks obtained by three students A.B and C in three subjects
out of 100
Student Subjects
Math Sci Eng
A 88 36 66
B 65 74 78
: 72 68 84

The total marks obtained by ‘A’ in all the subjects together is:

Ans X' 1. 260
X 2 228
v 3 240
X 4 242

Question ID : 9895807851
Chosen Option : 3

Q.5 A sum of T 10000 is lent partly at 8% and remaining at 10% per annum. If the yearly interest on the average is 9.2%,
9 then both parts are respectively.

AnS o 1 Z 4000 and T 6000
&< 2. 5500 and T 4500
< 3. ¥ 5000 and T 5000
< 4. T 4500 and T 5500

Question ID : 9895807841
Chosen Option : 3

Q6
0
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A pipe can fill a cistern in 20 minutes whereas the cistern when full can be emptied by a leak in 28 minutes. When both

are opened, the time taken to fill the cistern is:

Ans X' 1. 80 min
X 2. 60 min
X 3. 48 min

v 2 70 min

Question ID : 9895807843
Chosen Option : 4

Q1-6 ‘What should come in place of question mark (7) in the following questions?

(140 + 80 X 2—24) = (80+ 20 X 3—40) =?
Ans of 1276

X 2 0276

X 3 276

X4 —276

Question ID : 9895807830
Chosen Option : 1

QZIG By selling 20 metres of cloth, a man gains the selling price of 4 metres of cloth. The gain percent is:
it X1 20%

X2 15%

X3 22%

v 25%

Question ID : 9895807837
Chosen Option : 4

Q.6 The speed of train in going from Bhopal to Varanasi is 100 kmph while when coming back from Varanasi to Bhopal, its
3 speed is 80 kmph. What is the average speed during the whole journey? (correct to two decimal places)

Ans 1. 90.52 kmph
' 2. 88.89 kmph
X 3. 78.56 kmph
X 4. 86.53 kmph

Question ID : 9895807832
Chosen Option : 2

Q.6 i 6ol B L Z 4 .
4 Thevalueof-4+——4+-—= X - is:
§ op 0§ g i3 3

Ans g.

p A
21

16

v __
21
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1F

R 3
21

15
21

Question ID : 9895807829
Chosen Option : 2

Q.6 i 10 20 55
5 Whatisthe LCM.of —, —., — 2

21" 637 56
Ans 5

g A
504

Question ID : 9895807828
Chosen Option : 2

Q.6 A person purchases a silk cloth of length 50 m and width 1 m at the rate of ¥ 250 per sq m and a cotton cloth of length
6 40 m and width 2m at the rate of ¥ 200 per sq m. What is the difference between the prices of two cloths?

Ans  of 1T 3500
< 2. T 3200
X 3 T 4100
X 4 T 3050

Question ID : 9895807847
Chosen Option : 1

Q.6 The marked price of a bike is T 33.600. The retailer announced a discount of 16% on the occasion of Holi. What amount
7  acustomer will have to pay forthe bike?

Ans o 1 T 28224
X 2 T 5076
X 3. T 5376
X4 T 20224

Question ID : 9895807833
Chosen Option : 1

Q.6 A train passes the platform in 18 seconds and a man standing on the platform in § seconds. If the length of the train is
8 100 metres, the length of the platform is:

Ans 1 125m
X2 140m
X3 150m

X 4 130m
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Question ID : 9895807845
Chosen Option : 1

Qée Ram buys articles at 70 for ¥ 890 and sold at 60 for ¥ §90. What is his gain percent?

Ans

X1 17?%
X 2. 20%
v 162%

X 4250

Question ID : 9895807836
Chosen Option : 3

Q67 Study the following table carefully to answer the questions given below.

Marks obtained by three students A,B and C in
three subjects out of 100
Student Subjects
Math Sei Eng
A 88 36 66
B 65 74 78
C 72 68 34

The average marks obtained by all the students in Maths is:

Ans x 1. 81
X279
v 75
X 4 87
Question ID : 9895807850
Chosen Option : 3
Q7 a

1 HE = 2 then the value 0f(533 —232b) : (33112 —b3) is:

Ans X1 34:19
V2 16:27
X3 32:29
X427:16

Question ID : 9895807840
Chosen Option : 2

Q.7 If the length of a rectangle is increased in the ratio 4 : 5 and its breadth is decreased in the ratio 3 : 2, then its area will
2  bedecreased in the ratio

Ans X'1.10:3
v26:5
X3 4:3
X42:1

Question ID : 9895807849
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l Chosen Option : 4

%7 What is the fourth proportional to 3, 7 and 157

Ans x 1. 45
v 2 35
X 3 25
< 4 30

Question ID : 9895807839
Chosen Option : 2

Q.7 Virat kohli has certain batting average of 9 innings. In the tenth innings he scored 106 runs thereby increasing his
4 average by 6 runs. His new batting average is:

Ans X1 46
V2 52
X 3 56
X 4 48

Question ID : 9895807831
Chosen Option : 1

Q.7 A dice is rolled two times. Find the probability of getting a composite number on first roll and a prime number on
5 second roll?

Ans 1
(1-6
. 1
XZ-a
. 1
Xs.rl
. 1
?(4.i

Question ID : 9895807834
Chosen Option : 1

Section : English Language

Q1 Select the synonym of the given word.

MADNESS
Ans X1 Wisdom
X 2. Balance
' 2 Insanity
< 4. Stability

Question ID : 9895808730
Chosen Option : 3

Q2 gelect the antonym of the given word.

RELUCTANT
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Ans X 1. Opposed

/< 2. Unwilling
3. Willing
< 4 Unenthusiastic

Question ID : 9895808732
Chosen Option : 4

Q.3 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No substitution required.

The two sisters look quite different in each other.

Ans  of 1 different from each other
X 2. different as each other
/< 3. No substitution required

X 4 different with one another

Question ID : 9895808719
Chosen Option : 1

Q4 Select the most appropriate word to fill in the blank.

T was astounded at his knowledge about the continent of Africa.

Ans X 1. Colossal
v 2 Vast
X 3 Grave
X 4 Massive

Question ID : 9895808739
Chosen Option : 4

Q5 Select the meaning of the given idiom.

Bring to one’s knees
Ans X 1. to support someone

X 2. to trouble someone
/< 3. to request to bend

v 4 to force to submit

Question ID : 9895808734
Chosen Option : 4

Q6 gelect the meaning of the given idiom.

Cool as Cucumber

Ans X 1. to be aggressive

X 2. 1o be clever
X 3. to be smart
v % to be calm
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Question ID : 9895808733
Chosen Option : 3

Q7 Select the antonym of the given word.

LAMENT

Ans  of 1. Rejoice
/X 2. Regret
X 3. Grieve
& 4 Mourn

Question ID : 9895808731
Chosen Option : 3

Q8 Gelect the word which means the same as the group of words given.

Someone who wishes to destroy the existing government and laws

Ans  of 1. Anarchist
A 2. Hermit
X 3. Pacifist
< 4. Patriot

Question ID : 9895808735
Chosen Option : 4

Q.9 Select the most appropriate word to fill in the blank.

The  ofthe minister’s statement cannot be verified by people who have no access to official records.
Ans 1. rejection
/< 2. ambiguity
/< 3. approval
v« validity

Question ID : 9895808740
Chosen Option : 3

Q.1 Identify the segment in the sentence which contains the grammatical error from the given options.
0

Seeds of mustard plants give us oil and the leave are used as a vegetable.

A o 1 leave are used
X 2. as a vegetable
< 3. give us oil
& 4 Seeds of

Question ID : 9895808715
Chosen Option : 1

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
1 substitute it, select No substitution required.

Our meals usually have at least one item make of some kinds of grain.
Ans
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¥ 1. made of some kind

< 2. making of any kinds
< 3. makes of kind
< 4. No substitution required

Question ID : 9895808718
Chosen Option : 3

Q,‘;1 Select the word which means the same as the group of words given.

A person who is recovering after an illness or medical treatment
Ans 1. Healthy
v 2. Convalescent
X 3 Altruist
X 4 Athlete

Question ID : 9895808736
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

Those of us who live in (1) covered with forests and
surrounded (2) hills may find it difficult to (3) what a
desert is really like. The (4) belief is that it is (5)

endless stretch of sand where no rain falls and, therefore, no
vegetation grows.

SubQuestion No : 13

%! Select the most appropriate option that will fill in
the blank number 1.

Ans XL cities

X 2. territory
W 3 regions
75 4. quarters

Question ID : 9895808724
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

Those of us who live in (1) covered with forests and
surrounded (2) hills may find it difficult to (3) what a
desert is really like. The (4) belief is that it is (5)

endless stretch of sand where no rain falls and, therefore, no
vegetation grows.
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SubQuestion No : 14

Q1 Select the most appropriate option that will fill in
the blank number 2.

Ans X 1. for
X 2 with
< 3. from
«4. b\_’.,f

Question ID : 9895808725
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

Those of us who live in (1) covered with forests and
surrounded (2) hills may find it difficult to (3) what a
desert is really like. The (4) belief is that it is (5)

endless stretch of sand where no rain falls and. therefore, no
vegetation grows.

SubQuestion No : 15

21 Select the most appropriate option that will fill in
the blank number 3.

Ans X' 1. calculate
< 2. look
+ 3. imagine

X< 4 feel

Question ID : 9895808726
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

Those of us who live in (1) covered with forests and
surrounded (2) hills may find it difficult to (3) what a
desert is really like. The (4) belief is that it is (5)

endless stretch of sand where no rain falls and, therefore, no
vegetation grows.

SubQuestion No : 16

%1 Select the most appropriate option that will fill in
the blank number 4.

Ans X1 attractive
# 2 fake

+ 3. popular
< 4 noted

Question ID : 9895808727
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l Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

Those of us who live in (1) covered with forests and
surrounded (2) hills may find it difficult to (3) what a
desert is really like. The (4) belief is that it is (5)

endless stretch of sand where no rain falls and, therefore, no
vegetation grows.
SubQuestion No : 17

Q_,'l Select the most appropriate option that will fill in
the blank number 5.

Ans X 1. the
2 an
53 a
< 4. no article needed

Question ID : 9895808728
Chosen Option : 2

Q.1 Identify the segment in the sentence which contains the grammatical error from the given options.
8

The thin wire that giving off light is called the filament.

Ans X1 light is called
/< 2. the filament
/< 3. The thin wire

v giving off

Question ID : 9895808716
Chosen Option : 4

1 :
Qg Select the wrongly spelt word.

Ans X' 1. Committee
v 2. Concious

/< 3. Corruption
/< 4. Completely

Question ID : 9895808738
Chosen Option : 1

%2 Select the wrongly spelt word.
Ans X 1. Sergeant

X 2. Secretary

X 3. Surely

' 4 Scenary
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Question ID : 9895808737
Chosen Option : 4

Q2 Select the most appropriate word to fill in the blank.

Amongthe  Kkinds, the most common ant is black or red.
Ans - X1 much
v 2. various
/< 3. separate
< 4 lots of

Question ID : 9895808721
Chosen Option : 4

Q2-2 Identify the segment in the sentence which contains the grammatical error from the given options.
The jute plant is normal harvested when it is at flowering stage.
Ans 1. flowering
v 2 is normal
/< 3. The jute plant

X 4 when it is

Question ID : 9895808717
Chosen Option : 2

%2 Select the synonym of the given word.

LUCID
Ans X 1. Unclear
v 2. Clear
/< 3. Ambiguous

X 4. Confusing

Question ID : 9895808729
Chosen Option : 3

%2 Select the most appropriate word to fill in the blank.

This seemstobe a rifle.

Ans X1 soldiers
X 2. soldier’
X 3. soldier
v 4 soldier’s

Question ID : 9895808722
Chosen Option : 4

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
5 substitute it, select No substitution required.

Tea leaves is separate from the liquid with a strainer, while preparing tea.

Page 24 of 32 Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

A o1 are separated from
< 2. were separating to
< 3 was separate to

< 4. No substitution required

Question ID : 9895808720
Chosen Option : 2

Section : Hindi Language

! THR ST HeEy oY -

Ans

X 1 GoI3TH e
v 2 g 3aTer
X 3 ST FH
X 4 gST T

Question ID : 9895806964
Chosen Option : --

Q2 Ru v A= F Tg o9 AT S FE IR
TR 3T 3 3T 3r9er 9fER #T ers WEd & & TEr & =er
e KL AR el ofEw
X2 s e @
X3 g TEr ¥ I S
v o gfE FT T

Question ID : 9895806945
Chosen Option : --

®* R T TEE w1 TE HE AT B oS B I
amﬁrm%ﬂﬁa%a@mgﬁgama?ﬂgm
Ans lemgql

v 2 eurE #r
X 3 e Rufa #r @
X« 7% g

Question ID : 9895806944
Chosen Option : --

4 rsafeEt gger qEE & AT E-
Ans xlmm

Page 25 of 32 Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In
X 2 gSAT FIAT
A3 I FEAT
v ReserEt e

Question ID : 9895806963
Chosen Option : --

T I AT weE & WA H
Ans Xl' mr

X2 fmw

v g

X 4 Famm

Question ID : 9895806968
Chosen Option : --

Q6 faw 1w areFyr F TR @E # waTaia = F B s9ged Berew F wma =
sue e qoiaar w8 o
Ans X 1. 3&TTIr
v 2 gfeereg
X 3. FETHT
X 4 HfeRas

Question ID : 9895806947
Chosen Option : --

7 fow aTT ereg w1 faeHE I
ATHTERT
Ans X L emeprETdr
v afEr
X s Ry
X 4 TATmER

Question ID : 9895806960
Chosen Option : --

®® R T @1 8RS & [T 39GFA g AT B

el AN e T 2
Ans Jll =r

X2 Fr

X5 @

Xag
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Question ID : 9895806949
Chosen Option : --

O 2 T Ty F BT vE e A

T e arer
X1 greft

X 2. ATEE
v o maeet

X 4 qEafder

Ans

Question ID : 9895806965
Chosen Option : --

% R Y T o e e
o gfE arern

xS
v g

xo g
X o Fougha

Question ID : 9895806966
Chosen Option : --

U Ry v weg ¥ qTgEET o FT TUT FYI
fafes

Ans xl_m
v Ffre
X s TEEd

=

X 4 ST

Question ID : 9895806962
Chosen Option : --

%' mEr a3 Ty ase W T w1
Ans X 1 FTER

X 2. HEX

v o T

X 4 QMETT

Question ID : 9895806967
Chosen Option : --
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R = &1 s & BT 3979 =g F T9T H
e faeaa & aftem Hr HET  #T E
(1.@@

X 2. 38T

23 39eTT
?(4.§?~|?-|T

Question ID : 9895806950
Chosen Option : --

Q.1
4

Ans

R w= &1 s F T 3999 g F1 99T A
& oier @2l

X 1S

X o G

v 3 wE

X 4 o

Question ID : 9895806951
Chosen Option : --

Q.1

Ans

R wue &1 s & T 397 U= H TIT B

SEIAT § AT g
Xigh
X2 &
X 5 ager
v o gut

Question ID : 9895806952
Chosen Option : --

Ans

few o1v s & F7 s Aa W T e I R
w7 % Tl oIF 7w S T 3T =

X 1 mefr o
v 2 T ¥
X3 T
?(4.?!1%?511'%311?1?

Question ID : 9895806943
Chosen Option : --

Q.1
7
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T 71w a7 #F wifea @3 &1 wiorufa &= & v s9ged Reed & w07 &4
See # AT Ted & ar IReH U
Ans o 1. FE=T
X 2 g
X 3 FEETOY
X 4 HITET

Question ID : 9895806946
Chosen Option : --

QL v T A # Y@ ws A sforaiE w F R suge R & e R
s #9 w Hqae g & 3 F = ar @ T @

Ans o1 AGHET

X > =g

75 3. 3Tehel

X 4 I

Question ID : 9895806948
Chosen Option : --

Comprehension:

f=fof@a searyr # Rea wuer &1 9fF ez & & =7
T FIAT &F HFAR Hrire-

frard gAYy waw 3= (1) g1 e amemr 3k =9
F T 8= g chin 5Hl{'§@ﬁ'ﬁﬂﬁ' (2) & Hehar
%ﬁm%ﬁmﬁﬁmﬁmmm%ﬂm
& (S)a:rzgwmé‘u}sna?r#amirﬁ
{4)%@?&%7?31#@@1?&%%@?%34%#

(5) g B

SubQuestion No : 19
S ety F gafa Reg = (1) ¥ B

I9GFT S B
Ans 1 g@'ﬂ?l'

< 2 ggarer

X 3 gEewar

X4 grea

Question ID : 9895806954
Chosen Option : --

Comprehension:
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fafof@a o & Rea wuer #r 9fF aegner & J=
T FIHAT & HTAR Hriere-
frard gl Taw 3= (1) &1 forard amear ik 7
FRTHeT ) s e g A e (2) § Fear
& 3 shea & Ranit # se § Feg = T &1 ¥ Shed
F {S)WEHﬁmﬁrﬁlﬁm#Hﬂ%ﬁ
. 4)%@?&%#@@@@%%@?@3@%#
(5) &l Bl

SubQuestion No : 20
% gy #F wHfaT feg T (2) ¥ B

IUFS e BT
Ans "lm

A2 ey

X 3 giegam

X4 e

Question ID : 9895806955
Chosen Option : --

Comprehension:

=t ez & foa T #r 9fd seamer + 3= oo
T geAT & HFAR Hioe-
o gAY wew 3=t (1) &1 e amear 3k =77
FRw e d ToF AR g@ #EA _ (2) T FHAT
%ﬁwsﬁaﬂﬁrﬁmﬁ#mﬁmmm%#m
& {S)a:rmﬁm#r%|irsnaﬂ$3¢ﬂirﬁ
o 4)%@?&%#@%@@%%@%3@%%
(5) BT B

SubQuestion No : 21
Y gy #F wRfag feg e (3) ¥ B

39T 2Meg B
Ans x'l_ﬁwa_r

X2 aRgar

X 3. TEsherar

v 4 HEedT

Question ID : 9895806956
Chosen Option : --

Comprehension:
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frafof@T searr & Rea wuer #r 9fF ae@mr & J = e
T geaAT & HFAR Hriere-

forame Ay Tow = (1) ¥ Brae e 3R &7
& T sie= € g e gat 7 g (2) & Fhar
g 3 shea & Rt # e § 7 = T &1 ¥ Shea
# (3) & BT TEEr &1 T SEd & 3y A

_ (4) Temrer #1 ¥ R § o qUs W oo &
()@

SubQuestion No : 22
% sz F gafaT Reg e (4) ¥ R
3UgFT AT EE
Ans of 1 1T
K2 HF
7 3. 3TareRr
&4 e

Question ID : 9895806957
Chosen Option : --

Comprehension:

fafof@a o & Rea wuer #r 9fF aegmr & a0
T FIHAT &F HFAR Hrire-

frae gl ged =T (1) g1 foramer 3ear 3Rk 74
FRCATT S TaF gAR GE A gH __ (2) & T
§ 3R e & FanHt 1 e § #eg R THAr &1 F Shaa
F {S)WWﬁmﬁﬁlﬁmﬂ#Hﬂ%ﬁ
4)W%lﬁ3ﬁm%ﬁ:g¢¢wm#

(5) g B

SubQuestion No : 23
% sy & Hafad fea == (6) & fow

39YFT G B
Ans X1 HAT

X 2 =T

Vs qUAT

<o e

Question ID : 9895806958
Chosen Option : --

%Z omeIa FT FeE o B-
Ans .?<. ==
X 2. &7ioTR
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v Ras
K 4 T

Question ID : 9895806959
Chosen Option : --

%? frw AT s ¥ qUOEEN e FT 9O FI

CCE

ANS o1 o
X 2 TR
VAL L
X4 ogdy

Question ID ; 9895806961
Chosen Option : --
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